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jem Solving

) STRUCTURE Solve each inequality. Graph the solution on a number line.

Tt @ 21>15+2
w
14',92%m+7 15.§—13>—6
16. L 6=5 17. 37 < 7 — 10w
. 8-Z=11 19. -2 +6<12
20, 3b — 6= 15 +24b 21. 15h + 30 < 10k — 45

Define a variable, write an inequality, and solve each problem. Check your solution.

92, Three fourths of a number decreased by nine is at least forty-two.
23, Two thirds of a number added to six is at least twenty-two.
24, Seven tenths of a number plus 14 is less than forty-nine.

25, Eight times a number minus twenty-seven is no more than the negative of that
number plus eighteen.

26. Ten is no more than 4 times the sum of twice a number and three.

27. Three times the sum of a number and seven is greater than five times the number
less thirteen.

28. The sum of nine times a number and fifteen is less than or equal to the sum of
twenty-four and ten times the number.

G@STRUCTURE Solve each inequality. Graph the solution on a number line.

29, —3(7n + 3) < 61 30.21>3@—7)+9
3.2y +4>23+7) 32. 32— b) <10 — 3(b — 6)
BN D (i) D 34. 8a + 2(1 — 5a) < 20

Define a variable, write an inequality, and solve each problem. Then interpret
your solution.

35. CARS A car salesperson is paid a base salary of $35,000 a year plus 8% of sales.
What are the sales needed to have an annual income greater than $65,000?

36. ANIMALS Keith’s dog weighs 90 pounds. A healthy weight for his dog would be
less than 75 pounds. If Keith’s dog can lose an average of 1.25 pounds per week on
a certain diet, after how long will the dog reach healthy weight?

37. Solve 6(m — 3) > 5(2m + 4). Show each step and justify your work.
38. Solve 8(a — 2) < 10(a + 2). Show each step and justify your work.

39, MUSICAL A high school drama club is performing a musical to benefit a local
charity. Tickets are $5 each. They also received donations of $565. They want to
raise at least $1500.

a. Write an inequality that describes this situation. Then solve the inequality.
b. Graph the solution.

40, ICE.CREAM Benito has $6 to spend. A sundae costs $3.25 plus $0.65 per topping.
flte and solve an inequality to find how many toppings he can order.

Extra Practice is on page RS5.
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